ERK29%F48 IGES 58 58 %it 68

2 A H = AT L H = X ETELE X AL = X ATELE X AT L X ETELE

kg % kg % % kg % % %
AR L RNL 19,029 65.1 19,029 65.1
B O—R/\L 39,581 78.1 39,581 78.1
B3I —\ L 453 103.4 453 103.4
N & 59,063 73.5 59,063 73.5
BgARo=7y—t—> 8| -——- 8| ——-
RIS —E—D 94 1.1 94 1.1
B A=) —t— 2,138,295 104.2 2,138,295 104.2
N & 2,138,397 103.8 2,138,397 103.8
BEAA—ar 50,588 114.3 50,588 114.3
AEA—AR—TY 0| ——- o| ——-
B aF—~A—y o] ———- 0| ————
N & 50,588 114.3 50,588 114.3
& &t 2,248,048 102.9 2,248,048 102.9




TRL29FE TR 7H #5t L2958 A 8H H&t ER2949A 9H HA&t
# W B = XA L = XETELE # = XETELE = XATELE HE XATELE = XETELE
kg % kg % kg % kg % kg % kg %
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29108 108 &5t T§29411 8 118 85t T29512 8 128 BEt
2 A H = AT L H = X ETELE M= X AL M= X ATELE = X AT L M= X ETELE
kg % kg % kg % kg % kg % kg %
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T RL30E 1A 13 R&t ERE30E28 2R H5t ER30E3A EEN
# W B = XA L ¥ E XETELE ¥ E XETELE B E XATELE HE XATELE B E XETELE
kg % kg % kg % kg % kg % kg %
BERARULRNL

MO —R/\Ls
R AILE— L
N B
BRAO=7Y—t—
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